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

1 
𝟏

𝟐
  +   

𝟑

𝟖
 (

  = 
𝟒

𝟖
  +   

𝟑

𝟖
    

=    
𝟕

𝟖
  

2 
𝟕

𝟗
  +   

𝟐

𝟔
 (

  = 
𝟏𝟒

𝟏𝟖
  +   

𝟔

𝟏𝟖
    

=    
𝟐𝟎

𝟏𝟖
   =    

𝟏𝟎

𝟗
  

3 
𝟐

𝟓
  +   

𝟕

𝟖
 (

  = 
𝟏𝟔

𝟒𝟎
  +   

𝟑𝟓

𝟒𝟎
    

=    
𝟓𝟏

𝟒𝟎
     

4 
𝟐

𝟗
  .   

𝟒

𝟖
 (

  = 
𝟐

𝟗
  .   

𝟏

𝟐
    

=    
𝟏

𝟗
   

5 
𝟑

𝟕
  .   

𝟐𝟏

𝟐𝟒
 (

  = 
𝟏

𝟏
  .   

𝟑

𝟖
    

=    
𝟑

𝟖
   

6 
𝟑

𝟏𝟎
  .   

𝟐

𝟗
 (

  = 
𝟏

𝟓
  .   

𝟏

𝟑
    

=    
𝟏

𝟏𝟓
   

7(54 L500 ml

54 ( 1000 ) = 54000 m l 

  
𝟓𝟒𝟎𝟎𝟎

𝟓𝟎𝟎
  = 108 108 

16

8(

1 

  )1  P (

=  
  

   

  83 %  =  
𝟓

𝟔

9(

  )   P (

=  
  

   

 = 
𝟏

𝟐
  =  50 %  =  

𝟑

𝟔
 

10(

2 

  )2  P (

=  
  

   

  17 %  =  
𝟏

𝟔
 

11(

  1)  ( 6

   1)  ( 6 P

=  
  

   

= 
𝟏

𝟑
   33 %  =  

𝟐

𝟔
 

12(20126

4 , 8 , 12 , 16 ,20 , 24

=   45 %  =  
𝟗

𝟐𝟎
=  

  

   
  )   P (



1- 4

 (13

4

)=  
𝟒   

  
4  P (

= 
𝟏

𝟓
    =  

𝟒

𝟐𝟎

= 20 %

(14

)=  
   

  
  P (

  =  
𝟗

𝟐𝟎
 

= 45 %  

(15

)=  
    

  
  P (

  =  
𝟏𝟏

𝟐𝟎
 

= 55 %  



  

 

2 

 

          

(1

 

(L) (T) 

1 , 2 ,3 , 4 ,5 ,6

L , 1 
L , 2 
L , 3 
L , 4 
L , 5 
L , 6
T , 1 
T , 2 
T , 3 
T , 4
T , 5
T , 6

1 2 3 4 5 6 

(L)L , 1L , 2L , 3L , 4L , 5L , 6

(T)T , 1T , 2T , 3T , 4T , 5T , 6

LT 

123456123456

L , 1 L , 2 L , 3 L , 4 L , 5 L , 6 T , 1 T , 2 T , 3 T , 4 T , 5 T , 6 
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(2(S)(B)(R)(C)

(NC)(H)(W)

SBRCNC

HNHWNW

S,C,H, WW H 

C 

S

S,C,H,N W N W 

S,C,NH, W W 
NH 

S,C,NH,N WN W 

S,NC,H, W W 
H 

NC S,NC,H,N W N W 

S,NC,NH, W W 
NH

S,NC,NH,N W N W 

B,C,H, WW H 

C 

B

B,C,H,N W N W 

B,C,NH, W W NH 

B,C,NH,N W N W 

B,NC,H, WW 
H 

NC B,NC,H,N W N W 

B,NC,NH, WW 
NH 

B,NC,NH,N W N W 

R,C,H, W W 
H 

C 

 
R

R,C,H,N WN W 

R,C,NH, W W 
NH 

R,C,NH,N W N W 

R,NC,H, WW 
H 

NC R,NC,H,N W N W 

R,NC,NH, W W NH 

R,NC,NH,N WN W
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(3

(A

10987654321 

65536 = 222244444 4 

65536

(B

1296 =6 6 6 6 

1296

(C39 , 40 , 41 , 42 , 43 , 44 , 45

168=3 2 4 7 

168

 (1 (G)(O)

(G) (O) 

G , G 
G , O 
O , G
O , O 



  

 

5 

(G) (O) 

(G)G , GG , O

(O)O , GO , O

GO

GOGO

G , GG , OO , GO , O

 

 (2

J 

(J) (N) 

J , J
J , N 
N , J

N , N 

(J) 
(N) 

(J)J , JJ , N

(N)
N , JN , N

JN

JNJN

J , JJ , NN , JN , N



  

 

6 

(3

YGP

BO

WNW

HN H 

Y,B, W, H H W 

B 

Y

Y,B, W,N H N H 

Y,B,NW, H H 
NW 

Y,B,NW,N H N H 

Y,O, W, H H 
W 

O Y, O, W,N H N H 

Y, O,NW, H H 
NW 

Y,L,NW,N H N H 

G,B, W, HH 
W 

B 

G 

G,B, W,N H N H 

G,B,NW, H H 
NW 

G,B,NW,N H N H 

G, O, W, H H W 

O G, O, W,N H N H 

G, O,NW, H H 
NW 

G, O,NW,N H N H 

P,B, W, H H 
W 

B 

P

P,B, W,N H N H 

P,B,NW, H H 
NW 

P,B,NW,N H N H 

P, O, W, H H 
W 

O P, O, W,N HN H 

P, O,NW, H H
NW 

P, O,NW,N H N H 
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(4

20736 = 9 12 6 4 8 

20736

9,111,4

10,132,5

10,143,6
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(1 

14! 

2= 2!( 4 – 2 )! 

3

 =  
𝟐!

𝟒!
 ) (P

  

  

=  
𝟐!

𝟒 .  𝟑 .  𝟐!
 4!

=  
𝟏

𝟏𝟐
 

 

          

(21 - 98

(A

989P8

=   
𝟗!

(𝟗−𝟖)!
  =   

𝟗!

𝟏!
  =   

𝟗!

𝟏
  = 9! = 3628809P8

 (B42135976

1

42135976  
𝟏

𝟑𝟔𝟐𝟖𝟖𝟎

 

          

(35565211385 , 1 , 6 , 5 , 2 , 1 , 5 , 3

1815

 =  
𝟒𝟎𝟑𝟐𝟎

𝟐 .  𝟔
  = 

𝟒𝟎𝟑𝟐𝟎

𝟏𝟐
    = 3360  

𝟖!

𝟐! .𝟑!

21 

3



  

 

9 

 =  
𝟏

𝟑𝟑𝟔𝟎
 ) 55652113(P

  

  

 

          

(411 

(A

1( 11 – 1 ) !10 !

29 !

3

=  
𝟗!

𝟏𝟎!
 = 

𝟗 !

𝟏𝟎 .  𝟗!
 = 

𝟏

𝟏𝟎
) (P

  

  

 (B

111!

210 !

3

 =  
𝟏𝟎!

𝟏𝟏!
 = 

𝟏𝟎 !

𝟏𝟏 .𝟏𝟎 !
 = 

𝟏

𝟏𝟏
) (P

  

  

 

          

(5

183

8C3

 = 
𝟖!

  𝟖−𝟑  ! 𝟑!
  = 

𝟖!

𝟓!  .  𝟑!
  =  

𝟖 .  𝟕 .  𝟔 .  𝟓!

𝟓!  .  𝟑 .  𝟐  .𝟏
  = 

𝟓𝟔

𝟏
  = 568C3

2  4 

3

 =  
𝟒

𝟓𝟔
  = 

𝟏

𝟏𝟒
 ) (P
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 (1

15! 

2= 3!( 5 – 2 )! 

3

 =  
𝟑!

𝟓!
 ) (P

  

  

=  
𝟑!

𝟓 .  𝟒 .  𝟑!
 5!

=  
𝟏

𝟐𝟎
 

 

 (215

115315P3

=   
𝟏𝟓!

(𝟏𝟓−𝟑)!
  =   

𝟏𝟓!

𝟏𝟐!
  =   

𝟏𝟓 .  𝟏𝟒  .  𝟏𝟑 .  𝟏𝟐!

𝟏𝟐!
  = 273015P3

21 

3

 =  
𝟏

𝟐𝟕𝟑𝟎
 ) (P

  

  

 (35  , 6 , 6 , 3 , 3 , 3 , 15663133

1736

 =  
𝟓𝟎𝟒𝟎

𝟔 .  𝟐
  = 

𝟓𝟎𝟒𝟎

𝟏𝟐
    = 420  

𝟕!

𝟑! .  𝟐!

21 

3

 =  
𝟏

𝟒𝟐𝟎
 ) 5663133(P
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 (4

(a

1(6-1)!5!

21

3

 =  
𝟏

𝟓!
  = 

𝟏

𝟏𝟐𝟎
) (P

  

  

 (b2

16!

25!

3

 =  
𝟓 !

 𝟔 !
  = 

𝟓 !

 𝟔 .  𝟓 !
 =  

𝟏

𝟔
) 2(P

  

  

(5154

1154

15C4

 = 
𝟏𝟓!

  𝟏𝟓−𝟒  ! 𝟒!
  = 

𝟏𝟓!

𝟏𝟏!  .  𝟒!
  =  

𝟏𝟓 .  𝟏𝟒 .  𝟏𝟑 .  𝟏𝟐 .  𝟏𝟏!

𝟏𝟏!  .  𝟒 .  𝟑  .  𝟐 .  𝟏
  = 

𝟑𝟐𝟕𝟔𝟎

𝟐𝟒
  = 136515C4

2=  1 4C4

3

 =  
𝟏

𝟏𝟑𝟔𝟓
 ) (P

  

  

6,8,112,7

7,8,123,7

8,9,141,5



  

 

12 

 
 

          

X𝐉𝐌

 (1A)X𝐋𝐌(P 

=  
𝐋𝐌

𝐉𝐌
)X𝐋𝐌(P

=  
𝟒

𝟏𝟒

=  
𝟐

𝟕

 0.286 
 28.6  %

 

(1B)X𝐊𝐌(P 

=  
𝐊𝐌

𝐉𝐌
)X𝐊𝐌(P

=  
𝟏𝟏

𝟏𝟒

 0.786 
 78.6  % 

 
       

(28 L2 L

(A2 L

AD

2 LAB

=  
𝐀𝐁

𝐀𝐃
)2 L(P

=  
𝟐

𝟖
 =  

𝟏

𝟒

= 0.25
= 25  %

0 2 L 4 L 6 L 8 L 

A D B 



  

 

13 

 (B 2 L3 L

AD

 2 L3 LBC

=  
𝐁𝐂

𝐀𝐃
) 2 L3 L(P

=  
𝟏

𝟖
 

= 0.125
= 12.5  %

 

          

 (3

(A)(P

3 m

3 m

=  
  

 
)(P

=  
𝝅 (𝟑)𝟐− 𝝅 (𝟐)𝟐

𝝅 (𝟑)𝟐
 

=  
 𝟓 𝝅 

 𝟗 𝝅 
 

=  
 𝟓  

 𝟗  
 

 0.555 
 55.5  %

 

(B)(P

2 m

3 m

=  
  

 
)(P

=  
𝝅 (𝟐)𝟐− 𝝅 (𝟏)𝟐

𝝅 (𝟑)𝟐
 

C 

0 2 L 4 L 6 L 8 L 

A D B 
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=  
 𝟑 𝝅 

 𝟗 𝝅 
 

=  
 𝟏  

 𝟑  
 

 0.333
 33.3  %

 

          

 (4

(4A)(P

= 
𝟐𝟕𝟎

𝟑𝟔𝟎
  = 

𝟑

𝟒
 = 75 %=  

𝟑𝟔𝟎 − 𝟗𝟎

𝟑𝟔𝟎
)(P

(4B)(P

= 
𝟕

𝟑𝟔
   19 %=  

𝟕𝟎

𝟑𝟔𝟎
)(P

X𝐀𝐃

 (1)X𝐁𝐃(P 

=  
𝐁𝐃

𝐀𝐃
)X𝐁𝐃(P

=  
𝟓

𝟏𝟎

=  
𝟏

𝟐

= 0.5 
= 50  % 

(2)X𝐁𝐂(P 

=  
𝐁𝐂

𝐀𝐃
)X𝐁𝐂(P

=  
𝟑

𝟏𝟎

= 0.3
= 30  % 



  

 

15 

 (32011045

104

 104

104 – 5 = 99AD

AB5 + 4 = 9

=  
𝟗

𝟗𝟗
)(P

=  
𝟏

𝟏𝟏

 0.09  9  %

  

 (4122 cm1012.2 cm

𝟏𝟐.𝟐

𝟐
  =6.1 cm

𝟏𝟐𝟐

𝟐
  = 61 cm

=  
  

 
)(P

=  
𝝅 (𝟔.𝟏)𝟐

𝝅 (𝟔𝟏)𝟐
 

=  
 𝟑𝟕.𝟐𝟏 𝝅 

 𝟑𝟕𝟐𝟏 𝝅 
 

=  
 𝟏  

 𝟏𝟎𝟎  
 

= 0.01 = 1  %

 (5

(N)(NE)

= 
𝟏

𝟖
  = 0.125 = 12.5 %=  

𝟒𝟓

𝟑𝟔𝟎
)(N)(NE) (P

6,10,11,14,241,6

7,10,12,15,242,7

8,10,13,16,241,7

B D A

40 20 300 10 50 60 70 90 99   80 



  

 

16 

7-17-3

127
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(1

1

(1) 𝟏

𝟔

(2) 𝟏

𝟔

(3) 𝟏

𝟔

(4) 𝟏

𝟔

(5) 𝟏

𝟔

(6) 
𝟏

𝟔

2

3

16

= 60
𝟑𝟔𝟎°

𝟔

4

 
 

          

(218 %

1

 18 % 

 ( 100 – 18 ) %82 % 



  

 

18 

250

31501 – 9 

10 – 50

4

 
 

          

(32

20

9 

5 

2 

4 

20 

=  0.45 = 45 %) = 
𝟗

𝟐𝟎
 ( P

= 
𝟏

𝟒
  = 0.25= 25 %) = 

𝟓

𝟐𝟎
 ( P

= 
𝟏

𝟏𝟎
 = 0.1 = 10 %) = 

𝟐

𝟐𝟎
 ( P

=  
𝟏

𝟓
  =  0.2 = 20 %) = 

𝟒

𝟐𝟎
 ( P
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(4X

(AE ( X )

 ) = 
𝟏

𝟑𝟔
 2P (

) = 
𝟐

𝟑𝟔
 3P (

) = 
𝟑

𝟑𝟔
 4P (

) = 
𝟒

𝟑𝟔
 5P (

) = 
𝟓

𝟑𝟔
 6P (

) = 
𝟔

𝟑𝟔
 7P (

) = 
𝟓

𝟑𝟔
 8P (

) = 
𝟒

𝟑𝟔
 9P (

) = 
𝟑

𝟑𝟔
 10P (

) = 
𝟐

𝟑𝟔
 11P (

) = 
𝟏

𝟑𝟔
 12P (

P ( x ) =2 . 
𝟏

𝟑𝟔
  +  3 . 

𝟐

𝟑𝟔
 + 4 . 

𝟑

𝟑𝟔
 + 5 . 

𝟒

𝟑𝟔
  + 6 . 

𝟓

𝟑𝟔
  + 7 .  

𝟔

𝟑𝟔
  + 8 . 

𝟓

𝟑𝟔
  + 9 . 

𝟒

𝟑𝟔
 + 10 . 

𝟑

𝟑𝟔
 + 11 . 

𝟐

𝟑𝟔
 + 12. 

𝟏

𝟑𝟔

P ( x ) = 
𝟐

𝟑𝟔
  +   

𝟔

𝟑𝟔
 + 

𝟏𝟐

𝟑𝟔
 +  

𝟐𝟎

𝟑𝟔
  +  

𝟑𝟎

𝟑𝟔
  +   

𝟒𝟐

𝟑𝟔
  +  

𝟒𝟎

𝟑𝟔
  +  

𝟑𝟔

𝟑𝟔
 +  

𝟑𝟎

𝟑𝟔
 +  

𝟐𝟐

𝟑𝟔
 + 

𝟏𝟐

𝟑𝟔

P ( x ) = 
𝟐𝟓𝟐

𝟑𝟔
 

P ( x ) = 7 
 

(BA

1 – 6

20

 

2 1 

3 0 

4 1 

5 4 

6 1 

7 7 



  

 

20 

8 2 

9 2 
10 1 

11 1 
12 0 

2 . 
𝟏

𝟐𝟎
  +  3 . 

𝟎

𝟐𝟎
 + 4 . 

𝟏

𝟐𝟎
 + 5 . 

𝟒

𝟐𝟎
  + 6 . 

𝟏

𝟐𝟎
  + 7 .  

𝟕

𝟐𝟎
  + 8 . 

𝟐

𝟐𝟎
  + 9 . 

𝟐

𝟐𝟎
 + 10 . 

𝟏

𝟐𝟎
 + 11 . 

𝟏

𝟐𝟎
 + 12. 

𝟎

𝟐𝟎
𝟐

𝟐𝟎
  +  

𝟎

𝟐𝟎
 + 

𝟒

𝟐𝟎
 +  

𝟐𝟎

𝟐𝟎
  +  

𝟔

𝟐𝟎
  +   

𝟒𝟗

𝟐𝟎
  +  

𝟏𝟔

𝟐𝟎
  +  

𝟏𝟖

𝟐𝟎
 +  

𝟏𝟎

𝟐𝟎
 +  

𝟏𝟏

𝟐𝟎
 + 

𝟎

𝟐𝟎
= 

= 
𝟏𝟑𝟔

𝟐𝟎
 

= 6.8

7

(180 %

1

 80 %

 ( 100 – 80 ) %20 %

220

380 %20 %

80 %360  ) = 288 ( 360
𝟖𝟎

𝟏𝟎𝟎

20 %360  ) = 72 ( 360
𝟐𝟎

𝟏𝟎𝟎

420

20

20



  

 

21 

17 

3 

20 

=  0.85 = 85 %) = 
𝟏𝟕

𝟐𝟎
 ( P

0.8585 %

80 %

  =  0.15= 15 %) =  
𝟑

𝟐𝟎
 ( P

0.15= 15 %) = 1 – 0.85  = ( P

(2

1

 45 % 

 30 % 

 



  

 

22 

 15 % 

 10 % 

220

31201 – 9 

10 – 1516 – 1819 – 20

4

20

 9 

 7 

 1 

 3 

20 

=  0.45 = 45 %) = 
𝟗

𝟐𝟎
 ( P

= 0.35= 35 %) = 
𝟕

𝟐𝟎
 ( P

= 0.05 = 5 %) = 
𝟏

𝟐𝟎
 ( P

=  0.15 = 15 %) = 
𝟑

𝟐𝟎
 ( P
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 (3

(a

 ) = 
𝟏

𝟐𝟓
 100P (

) = 
𝟖

𝟐𝟓
 50P (

) = 
𝟏𝟔

𝟐𝟓
 25P (

P ( x ) = 100 . 
𝟏

𝟐𝟓
  +  50 . 

𝟖

𝟐𝟓
 + 25 . 

𝟏𝟔

𝟐𝟓
 

P ( x ) = 
𝟏𝟎𝟎

𝟐𝟓
  +   

𝟒𝟎𝟎

𝟐𝟓
 + 

𝟒𝟎𝟎

𝟐𝟓
 

P ( x ) = 
𝟗𝟎𝟎

𝟐𝟓
 

P ( x ) = 36
 

(b

1 – 251 – 16 25

17 – 24502510050

 

2529 

50 21 

100 0 

25 . 
𝟐𝟗

𝟓𝟎
  +  50 . 

𝟐𝟏

𝟓𝟎
 + 100 . 

𝟎

𝟓𝟎
 

𝟕𝟐𝟓

𝟓𝟎
  +  

𝟏𝟎𝟓𝟎

𝟓𝟎
 + 

𝟎

𝟓𝟎
 = 

= 
𝟏𝟕𝟕𝟓

𝟓𝟎
 

= 35.5

(c

36

4,6,91

5,7,102

5,8,113
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(1A

(1B

 
 

          

 (2A6

AB6 B )   P ( A  

=  P ( A ) . P ( B ) B )   P ( A  

= 
𝟏

𝟏𝟐
  8 %=  

𝟏

𝟐
 . 

𝟏

𝟔
 B )   P ( A  

6
𝟏

𝟏𝟐
8 %

(1B

AB) A   A   A    P ( A  

=  P ( A ) . P ( A ) . P ( A ) . P ( A ) )  A   A    A    P ( A  

 =  
𝟏

𝟐
 . 

𝟏

𝟐
 . 

𝟏

𝟐
 . 

𝟏

𝟐
 =  

𝟏

𝟏𝟔
 = 0.0625 = 6.25 % )  A   A    A    P ( A  

𝟏

𝟏𝟔
6.25 %
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 (35213113131313

3

=  P ( A ) . P ( A | A ) . P ( A | A | A ) A )  A    P ( A  

= 
𝟏𝟑

𝟓𝟐
  . 

𝟏𝟐

𝟓𝟏
  .  

𝟏𝟏

𝟓𝟎
  =  

𝟏𝟕𝟏𝟔

𝟏𝟑𝟐𝟔𝟎𝟎
 = 

𝟏𝟏

𝟖𝟓𝟎
  1.29 % 

3
𝟏𝟏

𝟖𝟓𝟎
1.29 %

 

          

 (44

9 

A  
𝟏

𝟔
 B 

𝟏

𝟒
C  

𝟏

𝟑
D  

𝟏

𝟐

A9B 4 

4 

9

 

𝟏

𝟐
  = P ( B | A ) = 

𝟐

𝟒
D

( 3 ,  6 ) 

( 4 ,  5 ) 

( 5 ,  4 ) 

( 6 ,  3 ) 

( 1 ,  4 ) 

( 2 ,  4 ) 

( 3 ,  4 ) 

( 4 ,  1 ) 

( 4 ,  2 ) 

( 4 ,  3 ) 

( 4 ,  6 ) 

( 6 ,  4 ) 

A B 
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( 1 , 2 )

(1

 (2

 (352

113

54

A5B4

54   B )   P ( A  

=  P ( A ) . P ( B ) B )   P ( A  

= 
𝟏

𝟐𝟕𝟎𝟒
 =  

𝟏

𝟓𝟐
 . 

𝟏

𝟓𝟐
 B )   P ( A  

55    A )   P ( B  

=  P ( B ) . P ( A ) A )   P ( B  

= 
𝟏

𝟐𝟕𝟎𝟒
 =  

𝟏

𝟓𝟐
 . 

𝟏

𝟓𝟐
 A )   P ( B  

54

= 
𝟏

𝟏𝟑𝟓𝟐
  0.074 % = 

𝟐

𝟐𝟕𝟎𝟒
   

𝟏

𝟐𝟕𝟎𝟒
 + 

𝟏

𝟐𝟕𝟎𝟒

(42035710

5

=  P ( A ) . P ( A | A ) A )     P ( A  
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= 
𝟑

𝟏𝟎
  . 

𝟐

𝟗
   =  

𝟔

𝟗𝟎
 = 

𝟏

𝟏𝟓
  0.07  7 % 

5
𝟏

𝟏𝟓
7 %

A ) = 
𝟑

𝟏𝟎
  . 

𝟐

𝟗
  =  

𝟔

𝟗𝟎
       P ( A A 

𝟐

𝟗 A 
𝟑

𝟏𝟎 B ) = 
𝟑

𝟏𝟎
  . 

𝟕

𝟗
  =  

𝟐𝟏

𝟗𝟎
       P ( A B 

𝟕

𝟗

A ) = 
𝟕

𝟏𝟎
  . 

𝟑

𝟗
  =  

𝟐𝟏

𝟗𝟎
       P ( B A 

𝟑

𝟗B 
𝟕

𝟏𝟎 B ) = 
𝟕

𝟏𝟎
  . 

𝟔

𝟗
  =  

𝟒𝟐

𝟗𝟎
       P ( B B 

𝟔

𝟗

  
𝟔

𝟗𝟎
  + 

𝟐𝟏

𝟗𝟎
  +  

𝟐𝟏

𝟗𝟎
 + 

𝟒𝟐

𝟗𝟎
  =  

𝟗𝟎

𝟗𝟎
 =  1 

1 

(510110

ABB

10

AB10

10

 = 0.2 = 20 %P ( B | A ) = 
𝟏

𝟓

 = 
𝐏 ( 𝐀  𝐁)

𝐏 (𝐀)
 = 

𝐏 ( 𝐀 ∩ 𝐁)

𝐏 (𝐀)
  =  

  
𝟏

𝟏𝟎
𝟓

𝟏𝟎

  = 
𝟏

𝟏𝟎
   . 

𝟏𝟎

𝟓
   =  

𝟏

𝟓
 = 0.2 = 20 %  P ( B | A )

 

6,12,181,3

7,13,182,4

8,14,182,5

2 

4 

6 

8 

10 

1 

7 5 
9 

3 

A B 
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(1A1100510

510

50510

(1B67

67

 
 

          

 (2A

9

9

AB9

=  P ( A ) + P ( B ) B )     P ( A  

= 
𝟔

𝟑𝟔
  + 

𝟒

𝟑𝟔
   =  

𝟏𝟎

𝟑𝟔
 = 

𝟓

𝟏𝟖
   28 % 

9 
𝟓

𝟏𝟖
28 %

(2B

1516142510

ABC

=  P ( A ) + P ( B ) + P ( C ) C ) B      P ( A  
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= 
𝟏𝟓

𝟖𝟎
  + 

𝟏𝟔

𝟖𝟎
  + 

𝟏𝟎

𝟖𝟎
 =  

𝟒𝟏

𝟖𝟎
    51 % 

 
𝟒𝟏

𝟖𝟎
51 %

 
 

          

 (352

1137

7

A7B

  B ) P ( A  =  P ( A ) + P ( B ) - B )     P ( A  

= 
𝟒

𝟓𝟐
  + 

𝟏𝟑

𝟓𝟐
 - 

𝟏

𝟓𝟐
  =  

𝟏𝟕

𝟓𝟐
 - 

𝟏

𝟓𝟐
 = 

𝟏𝟔

𝟓𝟐
  = 

𝟒

𝟏𝟑
  31 %

7 
𝟒

𝟏𝟑
31 %

 
 

          

 (470 %

AA

P ( A` ) = 1 – P ( A )

=  1 - 
𝟕𝟎

𝟏𝟎𝟎
 

= 
𝟑

𝟏𝟎
 =  

𝟑𝟎

𝟏𝟎𝟎
 

𝟑

𝟏𝟎
30 %

 

          

 (535 %

100

(A

35 %


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AB

C

C )BP ( A 

=  P ( A ) . P ( A | B ) . P ( A | B | C ) C )  B    P ( A  

= 
𝟑𝟓

𝟏𝟎𝟎
  . 

𝟑𝟒

𝟗𝟗
  .  

𝟔𝟓

𝟗𝟖
  =  

𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 



AB

C

C )BP ( A 

=  P ( A ) . P ( A | B ) . P ( A | B | C ) C )  B    P ( A  

= 
𝟑𝟓

𝟏𝟎𝟎
  . 

𝟔𝟓

𝟗𝟗
  .  

𝟑𝟒

𝟗𝟖
  =  

𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎



AB

C

C )BP ( A 

=  P ( A ) . P ( A | B ) . P ( A | B | C ) C )  B    P ( A  

= 
𝟔𝟓

𝟏𝟎𝟎
  . 

𝟑𝟓

𝟗𝟗
  .  

𝟑𝟒

𝟗𝟖
  =  

𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎



AB

C

C )BP ( A 

=  P ( A ) . P ( A | B ) . P ( A | B | C ) C )  B    P ( A  

= 
𝟑𝟓

𝟏𝟎𝟎
  . 

𝟑𝟒

𝟗𝟗
  .  

𝟑𝟑

𝟗𝟖
  =  

𝟑𝟗𝟐𝟕𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 

P ( M  N  Q )

= P ( M ) + P ( N ) + P ( Q) P ( M  N  P )

= 
𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
  + 

𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 + 

𝟕𝟕𝟑𝟓𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 + 

𝟑𝟗𝟐𝟕𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 = 

𝟐𝟕𝟏𝟑𝟐𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
  0.28 28 %  
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𝟐𝟕𝟏𝟑𝟐𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
28 %

(B

35 %









) ( A

= 1 – P ( M  N  P )  P ( M  N  P )`

= 1 - 
𝟐𝟕𝟏𝟑𝟐𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
 = 

𝟔𝟗𝟖𝟖𝟖𝟎

𝟗𝟕𝟎𝟐𝟎𝟎
  0.72 72 % 

(13

3

53

(2

(3

461037
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ABC

=  P ( A ) + P ( B ) + P ( C ) C ) B      P ( A  

= 
𝟒

𝟑𝟎
  + 

𝟔

𝟑𝟎
  + 

𝟏𝟎

𝟑𝟎
 =  

𝟐𝟎

𝟑𝟎
  =  

𝟐

𝟑
  67 % 

 
𝟐

𝟑
67 %

(4

AB

  B ) P ( A  =  P ( A ) + P ( B ) - B )     P ( A  

= 
𝟑𝟗

𝟏𝟎𝟎
  + 

𝟏𝟏

𝟏𝟎𝟎
 - 

𝟔

𝟏𝟎𝟎
  =  

𝟓𝟎

𝟏𝟎𝟎
 - 

𝟔

𝟏𝟎𝟎
 = 

𝟒𝟒

𝟏𝟎𝟎
  = 

𝟏𝟏

𝟐𝟓
 = 44 %

 
𝟏𝟏

𝟐𝟓
44 %

(5
𝟐

𝟏𝟎

AA

P ( A` ) = 1 – P ( A )

=  1 - 
𝟐

𝟏𝟎
 

 = 
𝟒

𝟓
 = 80 % =  

𝟖

𝟏𝟎
𝟒

𝟓
80 %

(610091 %

91 %







P ( A`  B` )
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AB

)` ]BP  [ ( A 

  P ( A ) . P ( A | B ) B ) =    P ( A  

= 
𝟗𝟏

𝟏𝟎𝟎
  . 

𝟗𝟎

𝟗𝟗
    =  

𝟖𝟏𝟗𝟎

𝟗𝟗𝟎𝟎
 = 

𝟗𝟏

𝟏𝟏𝟎
 

)` ]  = 1  -  P ( A BP  [ ( A 

  B ) P ( A  =  1 - B )` ]     P   [ ( A  

= 1 - 
𝟗𝟏

𝟏𝟏𝟎
 

=  
𝟏𝟗

𝟏𝟏𝟎
  = 17 %

𝟏𝟗

𝟏𝟏𝟎
17 %

100( 100 – 91 ) % 9 %100

9 % 9 %17 %

7,12,161,5

8,13,162,6

9,14,163,7




